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Answer the Questions from any one Option.

‘ OPTION - A
( Plant Anatomy and Embryology)
Paper : BOT-HG-4016

OPTION-B

( Economic Botany and
Plant Biotechnology)

Paper : BOT-HG-4026

For Regular Core
( Plant Anatomy and Embryology )
Paper : BOT-RC-4016

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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: OPTION - A
- (Plant Anatomy and Embryology )
Paper : BOT-HG-4016/BOT-RC-4016
1. Answer very briefly &« 1x7=7
wfs 53 Ted fuall ¢

{a) Which rﬁeristematic tissues are
associated with lateral growth of plant ?

Tfena A2 3fas TS (@FIHER ST T
TG ?

(b) Given an example of living mechanical
tissue. '

«fFy G e T Srizsa |
b e
of el {52 _
| (d) Define seed. Mention its type.
 Som kel Bl | B e Sad 3|

(e) Name the nutrient tissue developed
after double fertilization. :

f-frseR 2o 5o |t (iEss eflfafee @
ek
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(/) What do you _niean by tetrasporic
embryo sac ?
5§3@«1 el M =6 e 2
{g) From where the laterél roots originate
in dicotyledons ?
- Sweid) Sfirs A o1 GO Z
IR
Write briefly : 2x4=8§
B o1l 8 '
(@) Hydathodés 7
(CERIREa]
(b} Structure of pollen grains
SIS oA
(c) Cleavage polyembryony
fAvel qzmere]
(d) Mesophyll of leaf

o] NP
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- Answer any three of the following :

o oo
oot fnall Ricrear fefabrg ©es fordl ¢

(a) Write the differences between self-
pollination and cross-pollination.

F-oRIICAN] B TOT-SAMICN Tere A5l
AL il |

(b) Write a note on Sclerenchyma tissue_s.
CFeiea e R ot Gt e
(c) Types of ovules found in Angiosperms.

wedal Sfegne (siRl Rieq o 5 |

(d) Anatomy of Isobilateral leaves.

TR 2@ SNSRI 0 |

(e} State the protective role of epidermis
in plants.

W@WWW—WWQW|

Differentiate between simple and complex
tissues. Explain complex tissues with neat
diagrams. What are the basic functions of
complex tissues ? 2+4+4=10
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WWW'WWﬂWﬁ@WIWQ
sifbet 11w 3 9 | Gfbe TR 4 PR B
]%9

Or / 924

What is secondary growth inplants ?
Explain with diagrams the stages of
secondary growth occurs in dicotyledonous
root. :

g N 9 Fre BRod S T
aﬁq%ﬁmmlmaﬁwl

- What is embryo ? Describe the development

of embryo in monocotyledons with neat
diagrams. Write the differences of it with

dicotyledon embryo. 6t 8=10

9 P2 qEIede =R Ko Bame e 1

fadie=1q) =heE =ore TR AL FR '
Or / 9o«

What is endosperm and how is it formed ?
Describe its different types. with suitable
example and mention its functions.

ST R W (R B 9194 21 2 Felrsis fog
WWW«T%WW 3R I
WWI
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‘What is apomixis ? Describe the different
types of apomixis with examples. 2+8=10

seiEE e Gfen ooy SRS SnizseTE
qefell =41 | '
Or / 941 _

Draw the anatomy of the following and
write the ecological adaptive characters.

(i) Nerium leaf t.s.

(ii) Petiole of Nymphaea t.s.

'TWWWW%—WW
~ffRceR Fh e A @i e e

(i) Nerium =< @EHT
(i) Nymphaea Jifa wEea
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OPTION - B

( Economic Botany and
Plant Biotechnology)

Paper : BOT-HG-4026
Answer the following questions : 1x7=7
OO AT TR o g

(a) What is piperine ?

forsiifesy fe e
(b) Soybean is a major source of

RIIEG] 3 gy T |

(c) Name an important chemical compound
found in tea. :

2SRl T AR W e A
ferail|

(d} What is the full form of RAPD ?
RAPD % 5=l 1sich o2

(e) Which part of the plant is clove ?

IR T2 (FIFICHT SN TR (A 7 2
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() What is androgenesis ?
gGe {59

(g) ‘What 1S micropropagation ?

IR /e

2. Answer the following questions briefly :
: 2x4=8

O IR e UTE forat ¢
(a) Differentia£e CTC and green tea.

A1 Bl — CTC Sl GReSTal b1z

(b) Differentiate essential oil and edible oil
with examples. '

TrleaeRTE A1 Bl — i ton Wi 4
o8 | ‘ -

(c) What is Human Gene Therapy ?
WA fEm (il e

(d) What .is endosperm culture ?
LA T feree b gl ¢
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3. Write notes on the following : (any three)

: ; o%x3=15
5 G forei 5 (R o))
(a) Indian spices

SReIHS (A TR

(b) Pulses
vifereeta ==

(c) DNA fingerprinting
& @ @ Reeairafafse

(d) PCR |
71 ©© @19 (PCR)

(e) Somatic embryogenesis
e Zeree
4. Answer the following : (any three)
10x3=30
e A ©ed Tl ¢ (Rigpien fornt)

(a) Give an account of the origin of wheat
with reference to Vavilov’s concept of
centres of origin.
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() Describe the blotting teé—hniques and

OifeTes @Qﬁf%ﬂﬂ SRYREN @PRs BRI ~its types. _ :
(Fes Cerffey Read ” | - 7% afer oI 23R StPEd KEo fre | |

(b) What are different types of plant
fibres ? Mention the morphology and
utilities of Cotton fibre.

 fom R Sfe shwm f fe el TR
MY Wi Seafier faca &

(¢) Give an account of processing and
uses of tea.

BIgS e AT SiE SHEeR: Fewd |

(d) Describe briefly the techniques of
- embryo culture with its application.

TR (T W BorAIfel WA Y
feeel o |
(e) Give an account of molecular diagnosis

igroii hu'inan disease with reference to
Human Gene Therapy.

W2 @ hiniE s Fdn @R Raw
ol | w1sice Wee fow B et Smd

N
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